
פתרון הבחינה

באנגלית
גרסה א 16484: שאלון, 2020חורף תש"פ, 

 מוגש ע"י צוות המורים של "יואל גבע" 

 הערות:

התשובות המוצגות כאן הן בגדר הצעה לפתרון השאלון. .1

תיתכנה תשובות נוספות, שאינן מוזכרות כאן, לחלק מהשאלות. .2

http://my.geva.co.il/
http://geva.wisedev.co.il/psychometry/






It is very profitable 

Cars' team moved / relocated the (100-year-old) trees around the church 

תשובות נוספות- ראה נספח
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 They are under threat (of destruction) from heavy floods (due to climate change).

תשובות נוספות- ראה נספח
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:2שאלה 

- it employs thousands of people (who would have lost their jobs).

:7שאלה 

- they won't get financial help from their government.

 נספח

 16484שאלון  

(MODULE D) 

תשובות אפשריות נוספות




